Surds Problems
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8 Find the size of the shaded area. ~d
Give your answer in the form p(1 \V3) L a e &b"ln.s(e_ Aree

where p is an integer.
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9 The diagram shows two similar triangles.

6 +12

Find the scale factor of enlargement.
Give your answer in simplified surd form.
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10 The numbers X, Y and Z are such that

Y? = XZ.
a Find the number Z if X = V3 and
Yy=1-V3.

Give your answer in the form p + qV3.

b  Explain why it would not be possible to
find Yif X = V5and Z = 1- V5.
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Practise Your Multiplying

Erawples

) 26 «3E = 2x0C x3cSr

= 6 xS
= 30
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) 25 x4l = j2x1 = €4

2) 2/3 %8Iz - I6x3 = 4%



) —Sdzxiof = —S$0xt = —]0O
4) —3IBx-4L3 = 12x3 = 36
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Revision for Indices Test Tomorrow
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